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52

Ziel A Start B 
Ziel B

Km 1

Km 6

Km 4, 5

Km 3

Km 2

Phase B

Phase A

KL. S 
Phase B ‐‐‐ H1 ‐‐‐ Km 1 ‐‐‐ PT 1 ‐‐‐ H2 ‐‐‐ Km 2 ‐‐‐ PT 2 ‐‐‐ H3, Km3 ‐‐‐ PT 3 ‐‐‐ Km 4 ‐‐‐ H4 ‐‐‐ PT 4 ‐‐‐ Km 5 ‐‐‐ H5 ‐‐‐ PT 5 ‐‐‐ Km 6 ‐‐‐ H6 ‐‐‐ 300 m
Ziel B 7000 m
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52

Ziel A Start B 
Ziel B

Km 1

Km 6

Km 4, 5

Km 3

Km 2

Phase B

Phase A

KL. M
Phase B ‐‐‐ H1 ‐‐‐ Km 1 ‐‐‐ PT 1 ‐‐‐ H2 ‐‐‐ Km 2 ‐‐‐ PT 2 ‐‐‐ H3, Km3 ‐‐‐ PT 3 ‐‐‐ Km 4 ‐‐‐ H4 ‐‐‐ PT 4 ‐‐‐ Km 5 ‐‐‐ H5 ‐‐‐ 300 m ‐‐‐ PT 5 ‐‐‐ Km 6   
Ziel B 6050 m
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52

Ziel A Start B 
Ziel B

Km 1

Km 6

Km 4, 5

Km 3

Km 2

Phase B

Phase A

KL. L 
Phase B ‐‐‐H1 ‐‐‐ Km 1 ‐‐‐ PT 1 ‐‐‐ H2 ‐‐‐ Km 2 ‐‐‐ PT 2 ‐‐‐ H3, Km3 ‐‐‐ PT 3 ‐‐‐ Km 4 ‐‐‐ H4 ‐‐‐ 300 m ‐‐‐ PT 4
Ziel B 4800 m



H1 Domino Autohaus Pestuka

Tore: KL.  L    A – D   Kl. M   A – E , KL. S  A‐ F 
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H 2 Wasserpark 
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Tore: KL.  L    A – D   Kl. M   A – E , KL. S  A‐ F 



H3 Biergarten
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Tore: KL.  L    A – D   Kl. M   A – E , KL. S  A‐ F 
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H4 Windkraft Simonsfeld

7 x Abwurfbare Elemente

Tore: KL.  L    A – D   Kl. M   A – E , KL. S  A‐ F 



H5 Wildfütterung
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KL. S     A ‐ F 



H 6  

9 Abwurfbare Elemente
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KL. S     A‐ F 


